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CSIR-INSTITUTE OF HIMALAYAN BIORESOURCE TECHNOLOGY
YIAHYR—176 061 (fR.W.)/ PALAMPUR -176 061 (H.P.) .

HEAT No. IHBT/2-7/430/2025-R&A fe=T®/ Dated:10.07.2025

Notice

Sub.: Representations against Answer Keys for Written Competitive Examinations
(Paper- | & Paper- ll) conducted on 08.07.2025 for the Posts of Junior
Secretariat Assistant (Gen./F&A/S&P), Post code- JSA 2501, advertised vide
Advt. No. 01/2025- reg.

It is hereby informed that the answer keys of the OMR-based Written Competitive
Examination (Paper-| & Paper-ll) for the posts of Junior Secretariat Assistant
(Gen./[F&A/S&P), Post Code- JSA 2501, held on 09.07.2025, are enclosed with this
notice.

Candidates who appeared in the above examination may submit their
representations, if any, against the answer keys by 12.07.2025 upto 5:00 PM, via email
to sorecruitment@ihbtres in . If the representations received from the candidates found
valid, the answer keys will be revised accordingly. Representations submitted through any
other mode (e.q., letter, application, etc.) will not be entertained.

No individual communication will be sent regarding the acceptance or rejection of
any representation. Further, no representations regarding the answer keys will be
entertained after aforementioned date and time.

Sd/-
Section Officer(R&A)
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Piase fote that itis thecandidate's responidiiity (o fill in ¢ Aol Mumther carefully and withoutany amisson or discapancy at the appropriate
places in tha OMR Answer Sheet Any amissian ( discrepancy p}_rlu rendor the Anduiet Sheat lable for refection.
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TR : AR &FaT Paper-1: Mental Ability

S x 37w T E
Whal is the valug bf 39 ¢ 327

(A9 (B) 27 (C) 81 (D) 725

AT HeEH & 79 T A9 68 § 3R I A e 32 BrAl HEETHT FT IR i §Y
The sum of the squares of two numbers is 88 and stjuare of thelr difference 15 32 The
product of the two numbars is

(A) 18 (B) 20 (C) 18 (D) 14

B3 x T g 1=

(A) 215 (B) 2F (Cy 2%+ (D) 282

A it s & S a2 s 168 ¢, A ag wear s d

If Euf'_l of a number is 168, then whal is the number

(A) 384 (B) 382 (C) 364" (D) 55+ & i FE1/Nane of these

6 #att 3T 10 FFFE i ivwrer 2 32460 1 18 Asit 3% 30 FaT Fr Frevey T 9

The cost of 6 tables and 10 chairs is 2 32460, What is the cost of 18 tables and 30
chairs 7

(A} 97380 (B} 97360  (C)97340 (D) 551% & 59 &1/ None of these
JiTER

Al S,

G
(A] 24 (B)22 (C) 26 (D) 20

IR SIS A |, el e 3w 18 bR sRm dw s atam 20 & afe 3ifaw Fe
22 % O 95eT doar Fie A g7

Out of four numbers, the average of first three is 18 and that of the last three s 20. If
the last number is 22, the first one is

(A} 16 (B) 14 (C1 18 (Dyi2

TORET AT ST 16% 256 ¥ | 39 ST 5 27% T &7
16% of a number Is 256. What is 27% of that number?

(A) 423 (B) 443 (C) 432 (D) 5711 1 ®1§ gl/None of these

20 % are; 3 i 37 30T 5 T e B 3T 6 7 A AT Tt 3 T 67
Ravi's age after 20 years will be & times his age 5 vears back. Whal is Ravi's present
age’

(A)12 {B)10 (C) 14 (D) 7 T T8l iNene -::;f these
1L|Page



10!

IR B =4 AT I =9

If &2 =564 theh 34 =7

(A) 2197 (B) 2177 (C) 2287 (D) 2187

fdan weT . 11 9 16 7 & 718 Ao B G
Directions: From @.No.11 to 16, complete the given series

B

12.,

13.

14

15

16.

17

18.

18

1. 6,16,31, 51, 7

() 78 (B} 77 () 75 (D) 5# & 1 78l None of these

20,20, 19,18, 17,13, 14,11, 2.7

(A) 13, 18 (B) 10, 11 (C) 13, 14 (D} 10, 10
28,18, 128, 7

(A) 2048 (@) 2042 (C) 2058 (D) 2048
2 5,9,7 20,27 “

(A) 18 (B) 16 (C) 14 (D) 24

T.R.P/N, L, 27
(A)J, G {B)J. H (C) K H D) K |
KMS, P8, G811, EV14, 7

(A) BX17 (B) BY17 (C) CY17 (D) CY18

SEiHT - WS e 7
Forecast - Future  Regret : 7

(A) G / Present (8) ¥l | Past
(C) wTHREe | Atone (D) 7 / Sins
e FE A 7

Bank : River ;' Coast ; ?

(A) #1&.[ Fleod (B) BT/ Waves
(C) A%z | Sea (D) §H7 ag/Beach

AT 7 get Rt 3 wER , O v 81EmTe & Hay qgE?
Trigonometry is related to Triangles in the same way Mensuration is related to ?

(A) & | Cirttes (B} =TT | Gaometry
(C) &Y#e / Areas (D) FEI | Polygons

2| Pape



20 Freme T Hey wEwmen @ 38 s §, v v geite e & wey Hao
Science Is related to laboratery in the same way as Astronomy is related 7

(A TETET [ Observatary (B) g3t / Telescope
(C) HAME | Space (D) ¥&37 / Station

frder: wRE . 21 T 25 A, BT o Twest 7 # ASs T TH
Directions; From Q.Nos 21 to 25, choose the odd one in the give options

21, [A)=E THE ) Zall Singh (8) ardr fafr/ vV Gid
(C) Siaw g+ | Zakir Hussain (1) Trsire T / Rajiv Gandhi
22.  (A) &/ Dog (B) 9T/ Lion
(C) Faamr f Jackal (D) =7Er ) Tiger
23 {A) i/ Tailor (B) 4= / Goldsmith
(G} =ifarss | Sailor (D) FEr / Blacksmith
24, (&) ¥/ Triangle * (By 37@d / Rectangle
(C) FF | Circle « (D) Ed ] Square
25.  (A) BEsE/ Trivandrum (B) $prereat | Bhubaneshwar
(C) #Irelie / Bangalore (D) 991 / Pune

28,  ADET 25% + 200 FM75% + 120 FHM50% = 7
25% of 40 + 75% of 200 + 50% of 120 =7

» (A) 150 {B) 220 (C) 170 (D) 180

27, 0 o & Hpw 150 §) OE Hru # 30% i qefer Y O aur ar A $ 30%
g T A A A 8
The cost of an artiche is 150. The cost was first increased by 30% and later it was
decreased by 30%. The presant cost of the article is
(A) 207.5 (B 206.5 (C) 209.5 (Dy 2085

98,  wa THET A 3000 HETAT T, THeEt & 1400 wue & i oy weear O ofy 20% wsd
T 30% et et g, 3 sl Sy e E
In an examination mnraware 3000 candidates, out of which 1400 were bays and the rest
were girls. If 20% of the boys and 30% of girls passed, then the number of failures is

(&) 2140 (&) 2240 (C) 2130 (D) 2230

29, T oA S AT HieT T 9600 3 A= 3T 20% wHT FHET| &% et e 3w T U
A man sold his horse for 2 9800 and gained 20%. The horse was bought for:

(A)BO0D (B) 7000 (C) 7500 (D) 6500

Al Fayge



20

Test &5 U T 3 S A9 HE A 25% e o7 wiier| 59 2260  dawv et 20%
T T FHT| FHHT AT Hed A7 Aifow

Vijay purchased an article with 25% discount on its market price. By sefling itfor2 380,
he makes a profit of 20%. Find its market price

(/) 380 (B) 380 (C) 400 (D) 5+ A HIE A None of these

A v 31§35 ﬂﬁﬁﬁﬂﬁﬁm?&aﬁﬁmﬁm#@mﬁ
Directions: From Q.Nos.31 to 35, choose the one which Is different from the other options

51)
32.
33
34, i

35,

(A)10 (B) 28 (C) 24 (D) 29
() 35 (B} 50 (C} 49 (D) B3
(&) 168 (B) 144 (C) 196 (D) 256
(&) 21 (B) 69 (€] B1 ()83
(A) 8 ‘ (B) 87 " (C) 64 (D) 27

fAdar: o%T 4. 36 .40 7% & 3 o Reer o 5 s Raet 3 e &
Directions: From Q.Nes.36 to 40, choose the one which different from the ofher options

36:
7.
38.

41.

42,

(A) BCDE (B) PORS (C) WXYZ (D) STUW
(A} APBQ (B) CRDT (C) EUFV (D) GWHX
(A) BGLO (B) OTYD (C) KPUZ (D) HMRV
(A) EFEroT SR/ South Korea (B) 991 / Paris

(C) 3fterET / Ottawa {I3) =81/ Cairo

(A) 71T | Hanger (B) SHewiaT / Platform

(C) i / Dock (D) 96 { Park

U IR T A, B 3T C % e 2:4:6 F IR(9Te o ater o) o A w e 2 2400 2,
at & aRr g

A sum was divided among A, B and C in the ratio 2:4:6. If A's share is 7 2400,
then the total amount is

(A) 14400 (B) 13400 (C) 12400 (L3) 14200

Hia Hvatmara ST 6T JTTTE 90 416 1 10 & 41 Sy 7 T Fe ey 415 2
i HIG 7 T I 57

The agas of Sarita and Vanita are in the fatic 4:6 respeclively. Aftar 10 years, the ratio
of their ages will be 4.5. What is difference In their ages?

(&) 2 years (B) 4 years (C) & years (D) 7 years

4|FPage



43.

44.

45,

A, B 3 C 3 U saamy F ¥ 440000 F7 T9E 41 A F B # T 60000 iU A BA

C ¥ T 40000 3778 &1 TTese f&ar| T 88000 & F& &Y W T B oA Wie &l £7

A B and G subscribe 3 440000 In a business. J’% subscribes ¥ 60000 more than B and
B 2 40000 more than C. Out of a total profit of 88000 how much does B receive?

{A) 28000 (B) 27000 (C) 26000 (D) 25000

12 affced] 65 ST E FaT Teld ares: 1 &Ha7 12,5 dret &1 10 ey swar awr
farat arfecal i &) s wedr §7

12 buckets fill tank, wheteas the capacity of each bucket is 12,5 fitres. How many
buckets of capacity 10 litres 2ach can fill the tank?

(A) 10 (8y12 (C)14 (L) 18

1 UEY UF & # HA 30 30T 20 Tee 7 31 v 51 9fE &t ol & vs wry e
& s, @ & Tnae aea # A

Two pipes can fill 2 tank In 30 and 20 minutas respectively. I both the pipes are opened
simultanaously, then the tank will be filled in ?

(A) 11 min (B) 12 miin (C) 14 min (DY 10 min

Directions: From Cl_.. Nos 46 o 50, select a figure amongst the Answer Figures which will
continue the same series as given in the Froblem Figures.

fdar: wo HET 469 50 7, IR FETadl F ¥ wF 3G & owm St o s
sgferat & wré Aar = s w@

48

&T.

48,

Problem Figures | @FET 110 Answer Figures { 3AT HFTe

R ER SR R E D

(12 (3 )

(A) 2 (B)3 (C) 4 (D) 1
Problem Figures / E#ET 315 Answer Figures / 3t% HTHid
' @ @ @

(A) 4 (B) 2 (C)3 (D) 1
Problem Figures / AT 3T5fer Answer Figures | 307 353

oSS ]SS < <o [€Scled e

3>|25[S>|35|2> $>|5<|<32|<2

(1 (2) (3 (4)

(A)2 @) 4 ()1 @s

5|Page



49

a0,

51,

52.

53,

o4

56,

Problem Figures /| Tl HT&id Answer Figures | 3837 HTHic)
ﬁ*_'lBTJ+T9+ I gl 91 91 @
foabi 44 B AN -3 T #lL #T 4
(1h (2 (8 @

w2 (B) 4 (1 D)3

Problem Figures /| S &I Answier Figures | 39T R
L.l [ l q - i 1 1 (e

9 1

(1) (2) (3) (4)

(A) 2 (B4 (€)1 oy 3

i fe TTTae s 3 ROAST = PQYUR Totar Simer €, @ 39 s @ SLOPPY =t
TH YR Tora! S ?

I BOAST is coded as POQYUR ina nertam language, then how SLOPPY be-coded in
that language

(A) MENQA (B) NRMNQA {C) QNMRENA (0) RANNMG

o Bfes #1 & TELEPHONE #T ENOHPELET &t ST 1 SE 915 # ALIGATOR
Fr &S T swan?

Int & ceriain code, TELEPHONE is written as ENOHPELET. How is ALIGATOR written
in that cede?

(&) ROTAGILA (B) ROTAGAIL {C) ROTAGILE (D) ROTEGILA

e TR T AT A 24685 ¥ 33776 ToN@T SR ¢ 39 HS ST 35791 & e
g AT Sy

In a certain code language, 24685 is written as 33776, How is 35791 wnitten in that
code?

(A) 44826 (B) 44882 (C) 46682 (D) 44682

I SEeT 3T AT A st 30 R, Fora o § e R Er

Ajay says, Ravi's mother s the anly daughler of my mother, how s Ajay related to
Ravi?

(A)yETer [ Grandiather (B) e / Father

(C) #772 / Brother (D) =8 T Fis a1/ None of these

A BIECEAEID EFHSEINE BRIAAT A DI A TRT HEAT 7

A, B, and C are sigters. D is the brother of E and E is the daughter of B. How is A
relaled to D7

() HIET 7 Aunt (B) #ierdr 7%=7 / Gousin
() #hat | Nieoe (D) =g+ / Sister



R &1 7% SR T B 4 feT 3T U 56-60 o & I ST
Directions: Study the given information carefully and answer the guestions from 56-60

(1) A, 8B, C, D, E, F 3 ¢ v &y v 48 § it 30 w37 7 @ 0 B HE
A.B.C,D E. FandG are sitting on a wall and all of them are facing sast
(2) C, D% &= 2S5 3 & / C is on the immediate right of D
(3) B T T aT & 30 E 39 ISR §/ 8 is at an extreme end and has E as his neighbour
(4)E IXFFATAGE/ Cis between E and F
(8) D Zflor B ¥ F 8T TUH U 48T F / D is sitting third from the south end

56, E & am 350 i 2or & { Who is sitting to the right of E7

(A) A (B)C (CyD (D) 578 & %15 78 { None of these

57. Tt & & sl st & s 3o o s Er
Which of the following pairs of peaple are sitting at the extreme ends?

" (A) AB (B} AE {C)CB (D) F8

58 A/ A FiF a0l of
Who is sitting in the middle 7 .

(A E (B) F (C)F (o

50. Fwsinrad # A frw sufEg gm F 8w A 0 dar 87
Immediately between which of the following pairs of people is [ sitting?

(A)AC (B) AF (C) CE (D) CF

60, STETTE uat (1) W (5 A T E A F e B T O S & AU a7 e

Which of the conditions (1) to (5) given above is not reguired 1o find out the place In
which A is sitting?

(A1 (B) 2 (C) 3 (D} All

1. T W AT R B4 BT ot e T & 9 s i 10 R 31w

&Y, & 3% I o0 71T W A 2 O o) i a i a4

A car covers a distance of 840 km at a uniform speed. If the speed of the car is 10
kmifhr more, then it takes 2 hours less to cover the same distance. The original spaad
of the car was?

(A) 45 kmihr (B} 50 km/hr (C) 60 kmfhr (5) 70 kmiéhr

62, U WEHT 2 AT 6 Seeyder Fr ot Fr o e s 4 Bl #raea
T AT | 3 A e s R

A man covers half of his journey at 8 km/hr and the remaining half at 4 km/hr His
average speed is e

(&) 4.8 kmihr (B) 3 kmihr () 4 kmfhr (D) 9 kmihr

T|Page



63.

65.

B&.

£7.

58

69.

70.

300 mmmﬁmm#w 53 COIEHIH 1 36 ST F T | Y
o Il ST Y

4 300 m long train crosses a platiorm of double its length In 36 second. The speed of
the frain is 7
(A) G5 kmihr (B) 80 km/hr (C) 85 kmihr (D) 80 kmihr

54 Frriieer £ iy & uos AT U ISAET U SR STer O e 10 S T

HHE AT E1 120 e o sheni O a3 3 a T T s

A train running at 54 km { hr takes 10 seconds to pass a telegraph pole. How long
would it take to cross platform of 120 m long 7

(A) 15 sec (B) 12 sec (C) 18 sec (D) 16 sec

R HIEHT 5T ST 10 Beverer 1 ot & 33 vt & s 16 Sy S

R TS T FeheT 5 G Py arfer Ay 22

A man can row upstreant in 10 kmihr and downstresm at 16 kmfhr. The speed of the
stream is 7 .

(A) 3 kmihr (B) 2 Krvhr (G) 4 kenthir (D) 1 kmibr

U #l1e T 3qd 36 Tt 10 e Hameh &1 T & icte HAE 50 A e 3 5
2 O HAE I | B sm Ams SR s B2

A boat goes 36 km downstream in 10 hrs. It takes 2 hours mare 1o cover the same
distance against the stream. What Is the speed of the boat in still water 7

(A} 3.5 kmihr (B) 3.8 km/hr (C) 3.3 kmihir (D) 3.4 ken/hr

e g U 0% HIGROT SATsT 47 3t A E 2094 F’mﬁr%,a‘ragmﬁiﬁmﬁa?
ifa sum at 8% simple interest amounts to ¥ 2821 in 3 years, then the sum js 7

(A) 2300 (B) 2200 (C) 2100 (D) 2150

ek EIRTRY 6% Setat Y &0 & WiereT surs ay 3 a9t #2867 3t 4 avr TO06 Br =vEr
| e e §2 .

A sum of maney amounts to W67 in 3 years and 906 in 4 years al the simple inferest
of 8% p.a. What is the sum 7

{A) 600 (B) 700 () 750 (E) 800

T 10000 F7 AR 7 20% &M ear & oy 6 AR F AT S w9 @ g0Sw
e = e £7
The compound interest on 210000 a1 20% p.a. for 6 months compounded quarterly js 7

(A) 1025 (B) 1020 (C) 1010 (D) 1005

e AT 9T, TSt I 12 W st el 13 Bl @ e &

The area of a right triangle whose basa is 12 em and hypotenuse is 12cm is

{A) 25 cm® (B) 28 am® (C) 30 om® (D) 28 cm®

B|FPage



i FraRiEa aTa S OE # SRR SR 71 § 76 g% § TS 3h anan
Directions: Study the following table carefully and answer the guestions from 71 To 75

= & Fo | e | s | R
Student Hindi English Maths Fhysics Cheamistry
__(100) (100) (100) | (f00) (100)
AES | Mohan 65 78 68 70 G
R/ Viay 57 | | 88 | 92 RS 58
=T / Krishna 88 80 72 &8 | 62
S/ Charila 8g 88 % | 7T | 72
&3/ Valbhay 60 | .8 | &8 #“ | e |
T38RI / Kishore 8 B4 78 74 | 68
A/ Lakshmi | 74 42 % | e | @8

71, et T ey Tawet & Femes o e Aor?
How many marks did Kishore get in all the subjects together?

(A 368 (B) 364 {C) 362 (D) 380

72, TETUE T A Al BT aa He et v SEa 59 e 87
What are the average marks obtained by all the students together in Chemistry

(M) T2 (8) 70 (C) 74 49 i

73, TR oA TR O 3RS B § gl s urea e €0
How many studenis have scored the highest marks in mere than one subjeot 7

(A)2 (B) 1 (C)3 )4

74, Tasrg S o ET F Hat 3 9 e 3 A s e
What is the difference in total marks secured by Vijay and Krishna in all subjects ?

{(A) 22 (B) 24 (123 (D).21

75, o EEnr T Rt ure 3w o wieee s &7
What is the percentage of marks secured by Lakshmi in-all the subjects 7

(A) 82.8% (B) B2.6% (C) B2.5% (D) B2.7%

B 768 & 80 &% F WAT & 30¢ STee, i ST O 3 A 3wE A Y vd e
oy amnE

Directions: Answer the questions from 76 to 80, which are based on the following venn
dizgram and the information given thersunder

Y| Fage



76.

78,

80.

81.

B2

oot T Sheel oAty Fom 7 e 4
How many studenis joined only in the Football Club
(A) 22 " (B)30 (C) 28 (D) 34

Ld

Pt o Rolt re o et ot g

How many students did not join any ciub 7
(A} B (B) 5 (C) 4 (o) 7

o O pedle s 3 B e 2t & anfaer
How many students joined both Foot Ball Club and Gricket Club 7

(A) 8 (B) & (C) 12 (D) 18

How many students joinad a club, but did not join Foot Ball or Tennis Glubs 7
& ond Tl g & m.y.mﬁﬁﬁméﬁvmﬁqnﬁﬁﬂﬁw

(A) 22 (B) 15 () 18 (D) 12

et BT 8w UF Foe Wmmmmﬁmyﬁ?
How many students have joined only in one club (either cricket or tennis or football)

(A) B5 {B) 45 {C) 50 (D) 40

G+ IS+, ~ A3 - - xFIT A 124632 X 8 & BT

If + means +, + means -, - means x, emeans + thenthevalueof 1246+ 3-2x3 s

(A) -2 (B) 2 (C)a ()8

= U I H I W e gt St el T OOE) FAT S e e
Rohan ranks seventh from the top and twenly sixth from the boftom in a class. How
many studenis are there in the class?

(A) 31 (B) 32 (C) 33 (D) 34

W|Pape



b e TRia s &7 3T H 31T B3-B5 T & Wi & 3 4

Directions: Study the following sequence and answer the questions fram 83-85
514730857263158638562243496

83. =T e A Rrentl s e § o e aTe v e SEr 31 87

How many odd numbers ara there in the sequence, which are immediatsiy followed by
an odd number ?

= (A1 (8)2 (€)3 (D) 5
B4.  SH INTHA A Foaer g wemd & T & nge uss B dear 3 S T v 3
[EAT AT ST

How many even numbers are there In the sequence which are immediately preceded
by an odd numbar and immediately followed by an even number 7

(A) 1 (B) 2 )3 (D)4
B5. I XA # Rt T dert §, Toed & e S AE T1e & U GR B R

How many odd numbers are there in the sequence which are immediately preceded
and also immediately followed by an even number 7

(A)4 (B) 2 (C)3 (D)0

e FeToTas coaee o Caeas JEga Y A T8 86-80 & I
Directions: Study the following arrangemant carefully and answer the questions 86-89

WIR%4JE4TMT2I8BH3IASOFQOSDGEBUSPE

g6. TTaiRE # & slaw ard o/ § 79 H e B el e
Which of the following is the sixth to the right of the seventeenth fram the right end ?
(A) A (2)% G E (D) #

87. R 3TN 5 A F wF 30 B I, o FiTa e A 9 i 91 e 918 SR H IR

AcT & g1 @ iy g "

If the order of the last 5 elements is reversed which of the 'rnlmwing will be fourth to the
right of the twelfth from the left end 7

(A) B (B} 2 {C1H (D) A

88. TR aR & F 99 oF Pited als | ve S8 8 3R o wEp | RE aa
TR I FETE AR

Threa of the following four are alike in a serlain way and form & group. Which one doas
not belong to that group 7

(A)R W4 (B)5F G (CYBD P (D) 3B %

89.  IUHIwH SUEEY F AW UL WeAATHE Taee & el S a1 3T SR
Whal should come in place of question mark on the basis of the above arrangement

Ra# M2B asa ?

(A)5GU (B}DBE (C)5GS (D)DEP

11| Fage



P sre 4. 90 3 92 7 R ot wret 8 srsaer o % & IR AR A e e
T Tl & 7Y 3o |

Directions: From Q.No 90 to 52 arrange the given words in the ardar in which they appear in
the diclionary and then choose the correct answer among the given options

a0 (1) Brock {2) Bandit (3) Boisterous (4) Baffie (5) Bright
(M2:4.31 5 (B) 24,351 (C) 42,315 (D) 4.2,3.5,1

81. (1) Preach  (2)Praise.  (3) Precinct (4) Precept  (5) Precede
(A)2154.3 (B} 2,1,34.5 (C)1.2,84,3 (Dy25143

92.  ()Repoint (2)Reptile:  (3) Repent (4 Repute  (5) Report
{(A)51432 (B)35.1.24 {31,624 {D)54132

ey e e e 1 o 2 o 3t e 0394 % 3 5o
Directions: Slu dy the following information and answer the guestions from 93-94

195 Q. g P & 15 dex 2w at ) Rg R, g Q10 e ot 48 g s, Ry R 2 5 sfier 3mg
REIRg T, Mg s & s e ofema ity

Point Q is 15 m south of point P. Point B'is 10 m east of point Q. Point 5 is 5 m north of point
R. Point T is 5 m west of point S,

B uRTEGU B P f0der AR Al g s Ry u i Pretrgr
I paint U is 10 m east of Point P, then point S is how far from point U
{(A) 10m {B) Sm {C) 15m (D20 m

9. Rgpr RgTERmERwAL
Point P in which direction from Point T 7
(A) IR / Northwest (8) aMFUT-93 | Southeast
(C) 38T/ North (D) ETEoT-a=4 | Southwest

95. il AT 20 AT s, 50 S S At 30 B S un e HieX @ & asw
50 T B, St e o s Ty e
A iron beam is 20 m long, 50 om wide and 30 em high' If 1 cubic metre of iron weighls
50 kg. what is the weight of the beam ?
(&) 120 kg (B) 130 kg (C) 110 kg (D) 150 kg

9B. T SOl T A5 SR BT 264 o f e 2 S 14 om B | SHE I e &
The curved surface area of a cylinder is 264 cm® and its height s 14 cm, What its ™
volima?

(A) 386 o (B) 396 om? (C) 366 em? (D) 376 om®

12[Pags
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gg.

100.

e T BT FEA 4851 em’® | SHEH 3w PO M6 g
The valuma of a sphers 84851 om*. Its curved surface area is

(A) 1386 em? (B) 1286 em? (C) 1276 cm?® (D) 1266 cm*

s o geir 4 & T A ISR 21 om ¥ T SR TR 12036 em® & A
Farg e Y

The base radius of a right circular cons is 21 cm and its volume is 12836 cm®. The
height of the cone |s

(&) 26 cm - (B) 27 cm (C) 28 cm (D)) 24 cm

ek e i Fwar 1,75 HEw 2| 8.8 T Fr urar FE A OF T Fa oemeen?
The radius of a whee! is 1.75 m. How many revolutions will it make in traveling 8.8 km

(A) BOO (B) 820 (C) 84D (D) 830
e e % o T oere 63 Jfv | SwE s &

The length of diagonal of & cube is 643 cm. It volume is

(A] 266 (8) 276 (C) 286 (D) 216

"
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IMMECIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOI SHOUILD CHECK THAT THIS QUESTION 8O0KLET DOES NOT HAVE ANY
LINPRINTED O TOAN OR MISSING PAGES OR ITEMS ETC. IF SO,GET IT REPLACED BY A COMPLETE CQUESTION BOGKLET
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Please note that it Is the candidate’s respansiblity to f1l I the foll Mumber ca refullyapdwithoutany omission or discrepancy ol the sporoorizte
places n the OMR Answar Sheet. Any omisslon / discrepancy will render the Answer Shast lmble for rejection.

¥ o gRel @ S A T Ty wiew § 0w S ompAs e &1 T
S T 3 79 T TRl | You have to enteryour Roll Number on the Cusstion Booklet
in the Box provided atongside. DO NOT wiite anything else on the Ouestlion Booklet,
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wu oy 8w U wne e 9T T R ST S v S o e 2| afe o e S B oE W sl e
Wit 9w o b o o e R o ) el we @ B e o € O T 8

This Question Basklet contains 100 questions. Each guestion i printzd both In Hindl snd English escapt the questions related to:English
Language. Each item comprises four responses [answers). You will select the response which you want to mark on the Arswer Sheet. fn cass
yau Teel that thare.js more than ane correct respanse, mark the resaanss which you corisider the bast in any case; fhoose ONLY ONE response
tar each tem,

STHRT S TR TOY S W R Y W el s e B s & faw o P =

You have 1o mark all your fespunses ONLY on the separate Answer Shest provided. See difections in the Answar Shast.

F0 o9 8T T B Al questions carry equal marks, DO ND
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Before you proceed to markin the Angwar Sheet the resporse 1 varialis questions in the Question Booklet, you have 1o il insome particistars

In thie Atiswer Sheet as par Instructions sent Lo you with your Admit Card

31 TR T IAG W SN0 A WA B ww v e s o A G @ Seeose s ol 4 | e s s
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After you have compieted filling in all your responsse on the Answsr Sheet and sxamlnation has contluded, you should hand over to the

Invigitator both the Question Bookiat and the Angwar Shast. Yau sre ol permitted to mhe away with you tha Question Booklet
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Shests for rough work are appended In the Question Booklet 4t the end.
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There are four alternatives for the answer to every question. There will be Three marks for euery eorrect answer and Ope negative
mark for every wrong answer.
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If & candidate ghes more than orme answer, it will be treatad as a wrong answer even if one of the glven answars happens 1o be correct
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T 9T F H=ATTotal No, of Questions:-100

Fea 141 ¥ Time Allotted:-1 hour

AP FFMaximum Marks:-300

Three marks for every correct answer and one negative mark for each wrong

answer
Paper- 11: Section A
General Awareness / STHTS STRTSar
e {50 Questions)
| Who s Chairman of 1007
n &) lal Shah B) Roger Binny
¥ L} Saray Ganguli D) Anurag Thakur
1CC FrrETRIR ey
0L | A)sTE B} Trer=iafy
C) #rsne D) SAmisET
Which country has the Targest population?
02 A) LIS B) UK L
€l India D] China - -
| T 7
a2 Al LISa Bjuk: =
- C) 9w o) =ty |
Most populous state in India is:
03 Al WP B) Maharashtra
) West Barnigal Ljup
T =
03 | Ay 8) TR
I D) SaewEer
Minimtm 2ge required to become member ;ﬁzajw-hbha is:
s Al 35 years B} 30years
| € 28 years D] 25 years
04 | al3saq B} 307
B C} 28 wd D) 25 &5 -
In which state Badri Nath Dham Is sltuated?
05 | A)Iharkhand B) Uttrakhand
- L) Himachal Pradesh B Utter Fradesh
05 Al FEs B) I {TET
e D) wsreyier
Golden Temple i< |n;
{6 Al Dalhi B} Ayodhya
Cl Amritzar D) Nanded -
T T T e
&) Bt B) s =
06 &) Maae D) FRE




(2%

Shilong Is the capital of:
A) Asam 8] Nagaland
Cj__tﬂagh‘eiaya D) Sikkim

07

TorerT (o ) STAETATG -
A} FEe B} ATATTAE
C) FTEA p) e

Madhya Pradesh shares border with:
A) 4 states B} 5 states
C! &'states D) 7 states

os

e T AT T TSR AT e
A) 47T B} 5T
C) 6T D) 7 T

03

Whao was the first W of Hlmathal Pradesh?
A Shri fam Lal Thakur B} Shri Sant Ram
€ Dr ¥ S Parmar ) Shri Shanta Kurmar

W@qﬂw_
A) ST B} A
=t @i gAL e ) AT

10

Whols the Chalrman af NIT1 Avog?
A) Chief Justice of India Bj Finanee of India
€} Prime Minister of Indiz 0] President of India

1

AtfsraTEEEE T
) ST AT 14 B) WTTE AT AT
€} TSR D} MTEARTLIEN

i |

Who Is the Chief Justice of India?
A) Justice Sanjiv Khanna B Justice B R Gavai
) Justice 0 ¥ ChandrachudD) Justice Surya Kanl

il |

A ETTEfT A T B) ST st el
o it (A S A e i U Sl L)

12

How many Urion Territories are in india¥
A)g )&
C)7 D) 8

12

TR A ST T Ve e
)9 B} &
ki D)8

]

The longest tiver in India !
A) Satlu) B) Ganga
C) Krishna D} Sindhu

13

HTor T A AT AR
&) FTES B) T
) T o) g

14

Highest cotton producing state in India s
M) Gujrat B) Telengana
) Pumah o) Waharashtra

14

WA AT A T T TS &
AjpETE B) FEATAT
€) = D) FETTE

15

Highest sugar cane protduction in India Is by
A) Maharashifa Bj UP
C) Punjzb o) Mp




el

15 A FRE B) TEEE
C) I D) TRy
Winen was CSIR set up?
16 | A)1942 A} 1547
| | eydes0 D}1949
SR PETMUTEHT?
16 | A)1942 B} 1547
¢} 1950 D) 1948
“\Who sppaints the Chief Election Commissioner of Indiz?
17 | A) President of India B} Prime Minister of Indla
¢} Chiaf Justice of india ) Cabinet Committee an Appolntments
[l |} 'E
17 | A) SRR 8| FTTARTTETHA ]
) FTFETRE TS b AR A
Whowas Dr Shanti Swaroop Bhatnagar?
18 A) The first S&T Minister of india 8) Founder Chairman, Bhahiiaz tamic fesearch Centre
) The first Director of (SRO B The first DG, CSIR
By Shant] Swaroop Bhatnagar FTA47
8 | A VEERTEA RS TE TR B) WTHTTCH GG ae e T e
C) RIS AT D} A AT AT T
Three-fourths of the earth's susface is oceupied by
19 Al Snow B) Sand
C) Stones D) Water
: FENRINE T ]
19 | aywE By =T
[ it D) W
Khash Hills arain:
20 | A)Neps! B) Meghalaya
€} Sikkim D) Uttrakhand
0 | AYFETE ) T
c) e D) EiTEE
“Wimbledon is associated with:
21 | A} Cricket 8} foothall
) Hochey D) Tennis
Brereathae AT (Baa?
71 | A feeE 8) Fealw
Rt Dy fa
Manu Bhaker is associated with:
2z A Cricket By Wrestling
€)Shooting. 0O} Boxing
22 | MR Byl
) agfE D} HEETH!
Amran Sehrawat sarhed a medal if 2024 Olympics for Indlain:
23 | Al Wrestling B) Welight lifting
£) Boxdng D) Shooting
TR 2024 3 : :
22 | mFE B ST
C) FgErTET ) Rt




Who ks Indian Cricket Team Captain for 2025 England tour?

24 | A)Rohit Sharma B Rishabh Pant
€] shubhman Gill D) Ravindra Jadeia
2025 % . 5

24 | ) Tridereat B) e
¢ spEETaE bj THimE
Durand Cup is assodiated with:

25 ) Football B) Hockey
CiTennis D) Basketball

35 | A g B) gt
¢ # D) FTEREAT
Gohind Sagar resarvolr is ant

26 A) Sathuf River B} Ganga River
) Beas River D) Yatmuna River
N EET IR B A R

26 | A) T ) ST

= €Y SEEE . D) TR

Capital of Chhatisgarh:

25 Ay Bllaspur B) Raipur
€) Bhilai D) Raigarh
TR AT

27 | A e B T
C) FhHTe b} TrOTE
Largest area state in India: _

74 | A)UP B MF
C) Rajasthan Q)Bihar

28 | A)SEewEd B} TSRS
C) TrATAIA 348 L FALS
Largest milk producing state in India.

9 A) Gujrat E) up
C} Punjab B} Haryana

29 | A)eEEE B) SrETes
(o g D) EaTT
Jagannath Dham is in:

30 ) \West Bengal 8] Chiatisgarh
¢} Jharkhand B} Odisha
ARG 7

30 | ) wiEsET B} SRR
C) S D) A=
Height of Bhakhra Dam |50

31 | A)7a0ft #) 720 #t
C] 710 fL Dy 70

TE BT

31 | A) 740 ERE B) 720 g
g1 710 % p) 700 e
Mandi city in HP Is an the bank of:

32 A Satiu) - BY Yarnura

.. €] Beas 0} Sty




3l ) T B) T
)y =T bj g
Nathpz-ihzkel Dam is built or:
e A) Satiu] B) Bess
- ') Sindhy - D) Yamuna
AT T AT AR A TR A
33 A FrEEE B) =TT
c) e P} FHAT
Beas Hiver stans from;
34 A Manzli B) Kinnaur
0 Kullu [} Rohtang Pass
34 | A)wETET 8) i
e B} Tt
Gate Way of Indials Im
5 A} Mumbal . Bl kolkata
G} Chennaj 0 Belhi
35 | apEet B) ST
¢ st p) fawft
Whao was Sir €V Raman? '
3 A) A renowned Physicist  B) Chief Minister of Tarmil Nadu
) Ain Architact D) 1st Vice-President of india
TR TATCAA AT
36 | A oEwTesET AT B AT e
C) U D) FTETT IR
Sir Rabindranath Tagore got Nobel Prize for his contributien In:
a7 ) Medicine 8) Literature
¢) Peacs 0 Chemistry
i i = 1] 1 [ -
37 A) FaTEwy Ry TITiEe
¢} wifat ) TETAA T
What |s the capital of USA?
38 &) Los Angeles BY New York
Cj Flarlds B} Washington
usa TR
38 | ayetEfeen B) 7
€y ARl D) arfitEa
Which part of India was ruled by Chola Empires?
33 A} Middle Indiz B) Bangal
i C) Punjab D) South India
| ST AT e TR T (T
39 AR Bl EWTE
) o= ____ p)=EfemaTE .
Which Idngdom was Rani Ahilyabal Holkar belonging ia?
A) Ihansi Bj Gwalior
40 ) Malwa O) Bhopal




TTATH TS B rear T T A e e

40 | A) mTET B) =ITTHAT
) S )
Wha wrote the Ramayant
41 A Rishi Valmik] B} Soswarl Tulsidas
) Rishi Vashishth D) Ved Yyas
41 | apwfrarefis B) SrET e T
) =fafirs D) e
Who wrote novel “Godaan™?
42 | A) Goswam| Tulsidas B) Kalidas
C) Munshi Prem Chand D} Rabindra Nath Tagore
b N R T T
Az | p) TR B) FiTwaTs
C) == D) THTEATH AT
Whi composed “lan Gan Man™7?
43 A) Rabindra Nath Tagore 8] Bankim Chandra Chatterjee
€} Ramdhari Singh Dinkar D) Maithili Sharan Gupt
s TR A AT .
43 | Ay fwmaEnT B) ATERaEaEsl
C} ITHET e AT 0 Afisitsror =T = —
Highest apple producing state in India is:
ag AY Himachal B Jammu & Kashmir
) thtrakhand 13} Uttar Pradesh
NTEAAEE AT aS T AT A T
a4 &) A= Bl Srﬂ{&ﬁfﬂ'lﬁ?
| Q) gwaEe D) ETHE

Highestfrults gproducing state in Indials:

45 Al Jammu & Kashmir B} Maharashtra
) Andhra Pradesh 0 Himachal Pradesh
45 | A} aﬂfﬂmﬁt 8 ﬂ—n'r;:
() HTEHRE D} TeATSERRT
Which Indian nrgml:atlnn first developed the Supercomputer?
ab AFTCS B| CSIR
C) C-DAC D] ISRO S
LG R RO I e T CasL LR R i L e
46 | A)yErdhIm 8] sfrreramesnT
C) A= D}mi’r
Under which Article of the Indian Constitution has the Right to the Freedom of Speach and Exprassion
o been guaranteedy
M) 23 B 21
£}-20 D) 18
&7 A}22 B) 2t
€) 20 D) 19
Technalogy Day ic celebrated every year on: &
A L1th May B) 26th September
48 C) 28th February O} 1st Janusry

-




ajist B) 26 FreaT

a8
i 28 Tl D} 1-9FaEt
When did Himachal Pradesh come into being as 2 state of india?
48 A) 1848 B) 1870
(it D) 1972
E 5 ™
4g &) 1948 B} 1970
€] 1871 0} 1972
How much water is agpraximatety in human body?
5@ | A]90W B} 60%
£) A% D) 30%
AR T AT AT [T ?
50 | A)BO0% B) 60%
- ) -40% D) 30%
Paper-li: Section B
. Enplish Language
{50 Clestions)
51 | Choose the most suitable one word for; 'A lie 187d on purpose™
Al untrie B) mistrust
C) parjury D) mislead
52 | Oneword for “Too small a sum of money ™
A)penny B} peanuts
€) emiall money D) fittle money
53 | Onewatd for “Setentific study of rocks™
&) research [B) rockscience
{C) geology (D) petroiogy
54 | One word for “Somathing that blocks a hele™
Al plug B} block
Cistop D) cover
55 | Oneword for “An official decision of a court™
) Approval B sanction
C) ruiling D} direction
56 | Plck up the correctly spelled word!
AjPublizer BiPublishar
CjPublisher DjPablisher
57 | Pick up the correctly spelled word:
A} Assasment BlAssessment
EE ) Ascessment D) Assessmant
58 | Pick up the correctly spelled word:
A) Laberary B) Liberary
€} Libirary 0) Library
56 | Pick up the carrectly spelied word:
A Preliminary B Priliminary
L) Prefiminary b} £relimnary
60 | Fick up the cafrectly spelied word:
A} Goyren 8} Govarn
ClGovern D) Goveren
61 | Provide Synogym of “Sympathy”
A} Assistance B) Compassion

CySuppnrt b} Cooperation




o0y

CCows " Dy

g2 | Provide Synommm of "Clarity"
Al Light B} Brightness
L) Sharpness 0] Clearmass
B3 | Provide Synonym of; Happy
A} Contended B} Hospitable
€] Gracious 0 Jowy
B4 | Provide Syngmym of; Baaitifu
Aldmazing B) Good
Cl Attractive DiTerrible
B5 | Provide Antanym of; Transpargncy =1
| A} Opacity BjSecrecy
| C) Secretive 0} Hiding
E6 | Provide Antonym of; Industrious
Al Slow 8) Indolant
£) Unwise _Dj Conventional i
67 | Provide Antvonym to; Bright
A) Unhappy B} Dark
C) Black ) + O] Poor
68 | Fillinthe blank with one of the choices Htﬁngrin_ﬁw ENTENCE.
| have been living inthis flat ... 2020.
Alsince B} for
£} from o)t
&9 Fill in the biank with one of the cholces fitting in the sentence.
Weadhers ... the instructions given by the administration.
Ay for A) the
| Clta D) with
[ 70 Fill ir the blank with one of the cholces fitting in the sentence.
Wi should wait ... the mateh to finksh.
FARL] Bl thie
Clat D} for
71 Hil'in the Blank with one of the cholces fitting In the sentence.
The office dispersed ... the ervices of a derk
A) the : B) with
Clon B)for
72 | Fllin the blank with one of the cholces Fitting in the sentance.
Warmust he regarded ... manstrous svil.
A} as B) the
C) at bya
73 | Fllin the blank with cre of the chofces fitting in the sentence.
b weake up, he saw that Ris bag was stolen.
A} Wherg B) Sa
¢} When D) 1§
74 Provide comparative degree to; Nuch
A} Mast B) More
Ch Much B) Much more
75 Provide superlative degree to; Light
A} Light B) lighter
€] lightest D) Mostlight
76 | Provide opposite gander to: Ox
A) Caw B} Cxen




71

Provide opposite gender to; Member
Al Member B) Membears
C) Femalemember D} Lady member

T8

Frovide opposite gender to; Goat
A) Mare Bl Sheep
C) Butk 0} Goat

78

Provide opposite gender to; He
&) Him - ) She-
€} Har P} Madam

Provide plural affoot;
|A) Fobie B) Foot
C} Faet D} Fests

Brpyide opposite gender toj Sisker -in ~law
A) Sister-in-faw B} Sister-in-laws
£} Sisterssin:diaws D) Sisters-in-law

“€all the shots™ maans;
A) Take|nitistive B) Fire
C) Run D) Hit the ball

“Above board" means;
A) Powerful B) Honest
C) Hard working D) Important "

“Cut it aut™ misans;
&) Stop doing B) Finish guickly
C). Do/t afrach D) Take s break

“gn the ball™ mgans;
A) alertto new idea B) doing nothing
) hard task O} doing a job

"4 perfect storm™ mesns;
A Challenge B Joyful
£) Worst possible situation D) Entertaining

87

Chogse the correct option r.hnnging parration from choices given balow;
Director told the attendant to close the door,

A) Directar sald to the attendant, “Close the door.”

B) Rirector sald, “Close the deor.”

C) Directar told, “You close the door.”

D) Director said to the attendant, “Keep the door closed.”

48

Thoose the correct option changing narration from chaices piver below each:
He said to me, “l am writing,"”

&) He said that| was writing. B) He said to'me that | am writhng,

] He told me that he fs writing, D} He told me that he was writing.

-

" Choose the correct option changing narration from choleas glven bielow;

He said, “I am happy™.
A) He tald | am happy. B) He toldthat he wis happy.
C] He sald he was happy, D) He sald he |s happy.

Choose the correct option changing voice from choices given below aach;
Amouse was killed by the cat,

A) The cat has kilfed 3 mouse. B) The cat kills a mouse.

¢} The cat killed & mouse. B A mause ls killed by the ezl

8l

Choose the correct aption changing voice from chalces given below each;
Let the gate be closed,

Al Close'the gate. B) Gate is clased.

) Gate was :lmd D} He clased the gate,
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52

Choose the correct optien changing voice from choices pivan below each;
She is reading a book.

Al Abook is read by her, Bl A book Is being read by her.

C) She read & book. D) A book was being read by her.

33

Choose word nearest in meaning to underlined word from the cholces given below:
Every politician has his own axe to grind.

A} selfish reasons B} special reasans

G} nationa| cause 0} without motive

Choose ward nearest in meaning to underlined word from the choices given below!
The army gave tactical support ta its trooos,

A} sensitive B) strategic

C) expedient ) expert

35

Choose word nearest in meaning to underlined ward from the chalces given below:

This rain has bhroughtrespite to all.
&) rellef B} joy
L] happiness 0 desire

Cnopse word nearest in meaning to underlined word from tha choices piven balow:
Vinay asked Mahit not to meddie in his-affairs. '

A) talk « B) Counter

T} check O} interfers

57

Choose word nearest in meaning to undarlined word from tha choices given below!

Such conduct desperves sever punishiment.
A} harsh B} mild
) simple D) hard

i F

Choose word nearest in meaning to underlined word from the choites given balaw:

sheis well careful lady.
A proud B) prudent
C) mild 0) poiite

93

Fick the right sertence from the chiolces giver;
(A} Honesty is the best policy.

{B) The henesty is the best poficy.

{C) Honastly is the best polley.

{3 The honest s best policy.

100

Pick the right sentence from thechoices givan:
{A] You must send e informations as prescribed.
{8) You must sentall informations as prescribed.
(C) You must sent all Information as prescribed.
(B} You must send all Information as preseribed.
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